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ÿoˆÁTˆEı YÁPˆy‘] (B.D.P.) 

◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á (Term End Examination) 

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 

c˜O◊Tˆc˜Áa ( History ) 
ac˜ÁÃ^Eıı YÁPˆy‘]-3 (%rÙ] Yy) 

Subsidiary-3 (Paper-VIII) : Making of the 
Modern World 

OLD SYLLABUS 
(Up to July 2009 Enrolment Session) 

a]Ã^  f ◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
(Weightage of Marks : 70%) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin.  

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) %Á‹ôˆL¤Á◊TˆEı Ã[˝ÁLX›◊Tˆ„Tˆ 1929-30 AÃ[˝ ◊[˝`ü[˝ÓÁY› 

]c˜Á]≥VÁÃ[˝ Y“\ˆÁ[˝ ◊[˝‰`¿bS EıÃ[˝”X* 

 (F) Â_ÁEıÁ„XÔÁ ªJ«Ù◊N Ą̃[˝ YªRÙO\…ˆ◊] Eı› ◊ªK˜_ ? a]EıÁ_›X 

c Õ=„Ã[˝ÁY›Ã^ Ã[˝ÁLX›◊Tˆ„Tˆ AÃ[˝ Y“\ˆÁ[˝ ◊[˝‰ ¿̀bS EıÃ[˝”X* 

 (G) LÁ]ÔÁX›◊Tˆ XÁd◊a[˝Á„VÃ[˝ =xÁX„Eı [˝ÓÁFÓÁ EıÃ[˝”X* 

c Õ=„Ã[˝ÁY›Ã^ `◊N˛aÁ]Ó„Eı A◊ªRÙO Eı›\ˆÁ„[˝ Y“\ˆÁ◊[˝Tˆ 

Eı„Ã[˝◊ªK˜_ ? 

 (H) 1949 AÃ[˝ Â`„b c Õ=„Ã[˝ÁY›Ã^ ]c˜Á„V` Eı›\ˆÁ„[˝ V«◊ªRÙO 

◊`◊[˝„Ã[˝ ◊[˝\ˆN˛ c˜„Ã^ Y‰QÕˆ ? 

 (I¯) "ÂLÁªRÙO ◊XÃ[˝„Yl˘TˆÁ' [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? ◊X„L¤ÁªRÙO 

%Á„≥VÁ_„XÃ[˝ %G–G◊Tˆ„Tˆ Lc˜Ã[˝_Á_ ÂX„c˜Ã[˝”Ã[˝ %[˝VÁX 

Eı› ◊ªK˜_ ? 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) ÂTˆÁbS X›◊TˆÃ[˝ W˝ÁÃ[˝SÁ [˝ÓÁFÓÁ EıÃ[˝”X ? 

(F) CÃ^Á◊`eªRÙOX a„∂ˆÇ_X V…Ã[˝ Y“Á‰ªJÙÓ `Á◊‹ôˆ Y“◊TˆúˆÁÃ^ EıTˆªRÙOÁ 

aZı_ c˜„Ã^◊ªK˜_ ? 

(G) "Â^ÏU ◊XÃ[˝ÁYw¯Á [˝Ó[˝ÿöˆÁ' EıÁ„Eı [˝„_ ? 

(H) ªJÙ›„XÃ[˝ c˜O◊Tˆc˜Á„a 4PˆÁ Â]Ã[˝ %Á„≥VÁ_„XÃ[˝ TˆÁdY^Ô 

◊[˝‰`¿bS EıÃ[˝”X* 
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(I¯) c ÕLÃ[˝Á„Ã^_ Ã[˝Á‰r—ÙÃ[˝ %Á◊[˝\ˆ¤Á„[˝Ã[˝ ÊY“l˘ÁYªRÙO %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 

(ªªJÙ˜) ZıÃ[˝Áa› =Y◊X„[˝`[˝Á„VÃ[˝ ◊[ Ã̋[˝”„à˘ c Õ„≥VÁ-ªJÙ›„X 

LÁTˆ›Ã^TˆÁ[˝ÁV› %Á„≥VÁ_„XÃ[˝ ◊[˝◊\ˆ~ W˝ÁÃ[˝Ám◊_ 

Y^ÔÁ„_ÁªJÙXÁ EıÃ[˝”X* 

(ªK˜) "VÒÁTˆÁTˆ' Ã[˝ÁLX›◊TˆÃ[˝ È[˝◊`rÙÓ ◊Eı ◊ªK˜_ ? Ac˜O X›◊Tˆ [˝ÓUÔ 

c˜_ ÂEıX ? 

(L) a]EıÁ_›X ◊[˝„`ü ◊[˝`üÁÃ^„XÃ[˝ Y“\ˆÁ[˝ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

3* ae◊l˘ä ªRÙO›EıÁ ◊_F«X ( Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO ) f 6 × 4 = 24  

(Eı) QˆÁC„Ã^L Y◊Ã[˝EıîXÁ 

(F) a«„Ã^L a·¯ªRÙO (1956) 

(G) ◊Eı=[˝ÁÃ[˝ a·¯ªRÙO 

(H) COMECON 

(I¯) [˝Á◊_ÔX a·¯ªRÙO 

(ªJÙ) G¿ÁaXÿôˆ C ÂY„Ã[˝‰ÿóˆÁc˜OEıÁ 

(ªK˜) SEATO 

(L) [˝SÔÍ[˝b]Ó[˝ÁV* 
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English Version 

1. Answer any two questions : 20 × 2 = 40 

 a) Analyse the impact of the 'Great 

Depression' of 1929-30 on international 

politics. 

 b) What was the background of the 'Locarno 

Pact' ? Analyse its impact on contemporary 

European politics. 

 c) Explain the rise of Nazism in Germany. 

How did it affect the European balance of 

power  ? 

 d) How did the continent of Europe divide into 

two camps at the end of 1949 ? 

 e) What do you understand by the term 'Non-

Alignment' ? What was the contribution of 

Jawaharlal Nehru to the progress of Non-

Alignment Movement ? 

2. Answer any three questions : 12 × 3 = 36 

 a) Explain the concept of appeasement. 

 b) How far was the 'Washington conference' 

successful in establishing of peace the 'Far 

East' ? 

 c) What is 'Collective Security System' ? 

 d) Analyse the importance of 4th May 

movement in the history of China. 

 e) Discuss the backgrounds of the rise of 

Israel as an independent state. 

 f) Evaluate the different trends of nationalist 

movement in Indo-China against the 

French colonialism. 

 g) What was the features of 'Detente' ? Why 

did it fail ? 

 h) Discuss the impact 'Globalisation' on the 

contemporary World. 
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3. Write short notes on any four of the following : 

   6 × 4 = 24 

 a) Dowes Plan 

 b) Suez Crisis (1956) 

 c) Cuban Crisis 

 d) COMECON 

 e) Berlin Crisis 

 f) Glasnost and Perestroika 

 g) SEATO 

 h) Apartheid. 

    


